Subject: Re: array of Julian Days
Posted by David Fanning on Wed, 12 Nov 2008 15:37:26 GMT

View Forum Message <> Reply to Message

Bulrush writes:

> With the while loop, | got only 8 values, each increased just +1, e.g.
> 264,265,266... even if | set the step as 8. And become dead loop,
> looping all the day non-stop for that the same 8 values.

Your while loop ran all day long because you never
changed the conditional variable. Thus, it started
true and it remained true. (It's probably still true
now!)

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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